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UNIT:1

a-1 Afarfaf@a o e & ReghRfa @ 7@ die -
Solve the following simultaneous equation by graphical method
2x+y=5
3x+2y=8

B)fAeafof@a wawoT & gerue RS @ g ASR

Solve the following equation using the method of cross multiplication .

2x+3y-17=0
3x-y-9=0
Or
HTAHIA maximize z=3x;+4x,
SAdfh  such that 5x,+4%, < 200
3x,+5x%, €150
5x;,+4x, 2100
8x,; +4x,280
Xl,XZ 20
UNIT 2
Q-2 IfT ifA= (6 3 2 aan andB=f45 1};’(.3’(
54 -1 63 -2
) C=A+B
) C=A-B
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UNIT 3

Q-3 5% aMYF X & ¥ ¥3.9 W & aut & v gy =t By o AR
| Al <ot 6 aoren 3rdares Re el ¥ &t @ aiEw oRem

Calculate compound interest for 6 year s on Rs 432.5 @5% per P.a.
what difference will it make if interest is calculated half yearly.

or
ol WA HoUTal o7 &% A TURYT earsr B X A 3,4,9, awt 3 Brae

T 30 T FGT & A FIAYUT AT hford

Three equal principals amount to rs 3720 after 3,4,and 5 years at simple interest 6%p.a

UNIT 4
1 &% & 3 100 R¥ SR9 % 500 ufd Re & Ru™ @ @ woive @ wrem @ 397 af
qoive &1 FHYE 4 '/, vl @ @t @ X sast o ah e Rasi 7

A businessman sold 100 reams of paper @ Rs500 per reams by an agent. If agent’s
commission is 4!/, then how much businessman give him as his commission.

2 X 9T &1 {10 IR 98 WA @ Us WG B A0 SUANT F fbast wferd @)
&4 H Ty f sue @d § #id q9fyg =1 &8 8

How much should a man reduce the use of petrol whose price has increased by 10%
so that he may have to spend no extra money?

Or
1) wden & afFAfad 72 Rt & @ 12 gl @ 3w aur el R il @

X G CIGECGIE!
8
In 1 examination 72 student appears which 12 of them are failed. Find out the ratio between past and failed

student.
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2)2 FEAT 5 :4 A § TUT 3AH I & I} 225 ¥ AT O FEAW AT B 7
two numbers are are in the ratio of 5 is to 4 and different of their square is 225. find out number.

5 U qU fashar & 100 foex gy 360 3F Jar 35 10% Ty BT | U @

AT Ufd e ganai

A milkman sold 100 litres of milk for rs 360 and lost 10% .find the cost price per litre .

gead i A grr Reafafa aRaea g@ew & a7 A 10

Solve the problem with least cost method

3qdr

5

To market [
M1 M2 M3 M4 Supply
w1 2 2 2 1 3
W2 10 8 5 4 7
w3 7 6 6 8 5
Demand 4 3 4 4 10
Or

1wmﬁ5.5MWmﬁmz_smmﬁamﬁmﬂﬁwﬁm@

$375000 BT HId 491 & O S ) B9 T19 DR |

7

An agent gets 5.5% commission and 2.5% as del-credere commission. If he sold goods
worth Rs 3,75,000 find amount of his commission.

Wﬁmmiﬁ@haﬁm.suﬁmammﬂama.suﬁﬁmmmmﬁm%l
2018 9 T 30000 BT A AT GERT A, IR/ foar By gar?

A del-credere agent is entitled to receive 10.5% general commission and 3.5% del-credere
commission. He sold goods worth Rs30,000 in 2018. Find the amount of this commission.
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